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1- Complete the following sentences using the correct form of the verbs.

1. They w.ieiiinnns (drive) very fast when the policeman.................. (stop) them.
. (read) a great book last week.
K- T [ (see) Andrea at the party last night. She .................. (wear) a beautiful dress.
4. The children ......cccovinee (go) to bed at 2:00 last night. At 10:00, they ..........eeee. (Sle@p). \
5. When Mary ....cccevvviane (arrive) at the theater, her friends .........covenue. (wait) for her inside.
6.Reza .....cccevunenne (break) his leg while he .................. (play) football.
7. Mr. AKbari ...ocoeeveensines (get) home last night while his wife ......cc.oceee... (cook) dinner and the
children .................. {(watch) TV.
8. Paula...crmsrernene (stay) home yesterday because it .........ccour.e. (snow) very heavily.
2 - Unscramble the following sentences.
1. doing research / a new medicine / when / was /she / Shirin / found / .
2. the injured animal / they / trying hard / were / to save / . Y
3. English / as a translator / worked / when / he / studying / Hassan / was / at university /.
4. called him / Reza / studying / Arabic book / when / his / was / his mother / ?
3 - Unscramble the words in each bracket to fill in the blanks.
1. They were trying ................. (adrh) to protect the endangered animal.
2. Her belief in Allah gave her .................. (oehp) during difficult times.
3. Fortunately, his father is going to ................. (iutq) smoking.
4. He was doing ........ceeveene (esreharc) in his laboratory in winter 1928 when he found the answer.
5. She was reading a .......cccecuuuee. (vnleo) when the phone rang.
6. We were sitting in the hall when suddenly we .................. (edrah) a noise.
7. He found a new .........c...... (edeiicnm) when he was working on antibiotics.
8. Reza worked as @ ....cccecvviacans {otaalnstrr) when he was studying German at university.
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